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'"9 said; when i1s this valid, etc. — SRR 7T 20 AN

OVERVIEW

Our X132 reconciles the contradiction of the two NN™92 concerning 3 X217
71°903, by stating that they follow the respective differing views of a7 '
and the 7127. In other M17nx we find unanimity that when 777 '3 states "nn X'
(as he does here), he is merely interpreting the previous opinion; not offering
a dissenting view. M0 will reconcile this apparent contradiction.

= PIYNY NA NN 2297 YNIINT YHIYUN
It seems from this X713 that the term ">n»sX' (when do we say etc.) used by

"9, indicates that >"1 intends to dispute the previous opinion; and not merely to
just interpret it.!

mooIn asks:
= 912 92 YWIN? 239 AN (3,73 97 P1170) 9992 DAY (3,80 97 Py PN P92 9INRN ON)

You may ask; in 19911 772 and in 2712 777 P79, we find that %''29 said:
= YH9D NIN 1N 11931 1IN NNHNY 229 9IRY OIpN DI

Everywhere that "9 said the terms of either ""n» X' or '3’ (as in the
phrase: '@2>mR 0°7127 7n2' — ‘when does the previous apply’) it only means

than he intends to interpret the other opinion, but not to dispute it -
- 9Y9NY N1H2) YA SNNON AN 1IN 229

And 737 ' makes a distinction; when 777 'Y uses the term "n%X' he
intends to interpret the other opinion and not to dispute it. However when '

7717 uses the term '717%2' then he intends to dispute the other opinion; not merely

to interpret it.
= U922 YN NIDY 22120 NN

It is evident from those M3 that all agree that the term "n»R' is used

when "1 intends to merely interpret the other opinion and not to dispute it. This
would contradict our X723 where it assumes that 71271 °"9 are arguing, even though "

! Our X3 states that the contradiction between the two mn>2 can be resolved by asserting that one X012
follows the opinion of "1 and the other the opinion of the 7127 (concerning a 712°50). If however "1 when
saying 21 °n»°X' (as he does here) he is merely interpreting the 7127, then there is no dispute. All agree with
"7 and his interpretation that when the 700 is not nww it is Mwd. How then, can we resolve the
contradiction between the Nn>12? We are therefore forced to say that the term "n»>X' indeed conveys that
"9 is disputing the other opinion. [The difficulty is why mo01n says vnwn when it is evident; see >w19n XN
TN #119.]
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uses the term "nnoK'.

nD0IN answers:
- NINT 19129 %297 999 v

And one can say; that 729 ' here who gave this answer that the two

contradictory mn>12 follow the respective differing opinions of 11271 °"7 -
= PIINY SNHNIN IDIONT (x,n3 0w) 9992 NT P92 NY SNRT NNN 92 9195 930

He agrees with X217 92 >»9 who maintains in 9912 777 92 that even when

"3 uses the term "sn®oR', his intention is to dispute the other opinion. Therefore
the two n1n>72 here can follow the differing views of 71271 °"1.

Moo continues to discuss the ramification of what was just said:
= 7O 22X DY NN 297 O8Y 1IN 239 99N PHYNIYA 12209 XD N1 29D

And according to this (that 13m° "1 and "2 both agree that 7127 " are not
in disagreement) we cannot have our text read that ‘pm» '9 said

concerning a perforated flowerpot that is standing upon pegs, whether it is
IWY©2 21NN or not -
= D990 NYPNA 2NV 115 1939 NN %29 NPIYNNY 1INA

This is contingent on the dispute between 31291 5''%’, as is written is some
manuscripts. This cannot be. 137 "1 cannot say that it is contingent on their dispute -

= Y99 SNNIN 1Y N 1IN 2299
since 37 'Y maintains that '>n»8' is only wan%, therefore there is no np1?mn

between 1127 77T " -
= £990 2993 RHONTI NI 229 20907 HNI NN 29 99X NIN

Rather we are '83177 29 97K’ 071 instead of 1371 '; while some are '3' o9
'R947, as is found in most manuscripts.

Mmoo concluded that: a) “»7° " cannot agree with > " 5"22, but rather follows the
opinion of X»r1 72 "7 concerning "n»°XR'; and b) The X077 later is not 13mM° " but either "
X177 or X7 M.

moon will now offer a different approach.
= (3,89 97 Pp1¥) PNIN P 91D YD9)T D990 NNIIT 92 W T

And additionally, we may say that it is probably correct to assume as the

manuscripts whose text in the end of 1791 P72 read:
= 9910 NN INION MIYWHI NTINP %29 MMINRY DIPN Y5

‘Anywhere that 737y '3 states in our 01222 the terms of "n»R' or "2’
etc. -
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= NY N£199922 AN ¥I9Y INNIN NIVNA NPT
That only in a 73w» is the term "n%3R' to be understood as interpreting the
previous opinion and not disputing it, however in a X132 it is not so.’
- 12 2297 XDON NN 9N
And there are two 2°8in who disagree concerning the status of 7717 '3 in
relation to the 1127.°

mooin will now differentiate between the Xn>92a and the mwn
= (17n279) YN NIDNA NIYNA NNT NN NI XM
And here in our X3 we are quoting the Xn>13, for the mw» in 7757 noon

which discusses the same issue of a boat with 5" 95¥ in it —
= NN 00179 NIV HYYI) NIADN PN YAN N2 010N NY

That 71w» does not conclude with the last phrase ‘However if the boat is
not resting on the riverbed it is exempt from “wy»’, as the ¥Xn™72 concludes

here in our X 3. This is proof that the X3 here is quoting a Xn*>32 and not the mawn
because in the mwn there is no such phrase 'mMwd W 71°007 1R HaR'. Therefore we can
say —

= PIYNY N2 N$HI22 YHDD N2 NDNT PNINNAT 2N
That granted that in the 7w» of m%m ndon, there 77> ' is intent on
merely interpreting the X»p Xin (according to the opinion of the Xin of that

7Iwn); in the X092 however, 777 ' is arguing with the "n. The opinion of the
Rin of the Xn>>72 is that the P"n of *"7 maintains that the 71°507 99¥ is WwWyn»2 211 whether
it is nww or not. Now we can say that 7°n7° "1 need not disagree with 117 " "2 and
that we can be 721" "1 07 later in the X713 concerning an 211 77XY.

mooIn questions this presumption that (even) when there is a 71wn and a Xn™72 that are
discussing the same case and 777 " says "X in the m1wn (and Xn™12); we can still say

2 The term "n»°X' in a Xn™72 may well indicate that >"7 is disputing the other opinion. This case of %" 72y
71°902 X277, is taught in a 7awn (Our text reads 7307 for there is such a 71wn in 2"» 2" 797.). Moo will soon
show that the X3 here however is quoting a similar Xn>72 (according to N1o01N the text should be amended
to read X107 as noted in the gloss), but not the mwn. In the 71wn there is no NPY?n» between 13271 °™. In our
Xn>>12 however there is a NPY?m» between 1327 °"'1. That is how we can reconcile the two nIin>12 concerning
71502 VX X°nT; that they follow the differing opinions of 1127 °"1 in the Xn>12. Obviously the Xin of the
{n»73, who claims that 71271 *"9 disagree, argues with the Xin of the 7w» who claims that 7127 *" agree.
This is what n1901n continues to say -

3 The Xin of the mwn maintains that >" agrees with the 1127, while the Xin of the Xn>12 maintains that "
disagrees with the 1127. However nvo1n cannot mean that the °Xin "N argue as to the opinion of "7,
because " of the 72wn and *"1 of the X072 both maintain that there is a distinction between nww13 and 71X
nwwi. See (7"nX # 126 and) ‘Thinking it over’ # 1.
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that the Xin of the 7Iwn maintains that there is no argument and the Xin of the &n»M2

maintains that there is an argument:
= N2 NN 7599 9992 AT PA93Y Y9N PI93T NYP VAN

However there is a difficulty; for in 1991 P95 and in 9732 77 pap the X
questions the statement(s) of (j371° ") 2"27 that whenever > says "n»X' he

is merely interpreting the 0°»311; the X731 challenges this based on a 8n»92
that follows up on a mwn in which 777 "7 used the term *n»°X; and in this X072 —
= DY9IN 020N MINPT

It states that the 2%>n say in direct opposition to what 777> " said in the mwn
following his "nmx'.*

= PIINY NON ) 1PN T N9 NI
And the X773 there proves from the Xn»93, wherein the 2101 argue with
*"9; that in the 7awn discussing the very same topic of the Xn*2 we must
conclude that °"7 is also intent on arguing against the o°non.°

MO0IN answers:
= Y99 N2 ODIYY PNINNIAT NIN NIPINN NIN RIND 99IWD 281 NINT 91997 U

And one can say that really the X3 there could have answered the
question on 2"21 by saying, that Xn»92 is the opinion of a different NXin
who disagrees with the Xin of the 71wn, for in a mwn, when °"1 says *nn°X he

is always intent on interpreting the p"n. This would be in accordance with n1901n

view here. The reason the X713 did not answer it in this way is —
= NOINT NN 1290 /9 DIVN DTN /9 NO¥DD VN NP R¥TNA NN NIYVNT Ovn

Because the X723 found a specific X1n who argues with 7717 " of the mwn
therefore the X723 answers; that Xn»92 of X" who argue with " follows

the view of 71731 ' in the name of 1197 ',% as we learnt in a Xn»12 etc. It
is a stronger rebuttal if we can identify a specific Xin of the Xn»72 who disagrees with "
7717 as opposed to making a general statement that the Xin of the Xn»92 argues with the

4 The mwn there is discussing M7y *2100 and states: PR 7212 >N°K 771 ' 9K 121 XO2IP2 pPRwHT 0021097 198
131 92K X7 ROX MK 2. The Rn»12 quoted there states: 2109 121 X7 ROR NIAIN 17 PRY P2 270K 2°100 9aR.
This is in direct contradiction to 777 .
5 That Xm3 is in direct contrast to what n1po1n said previously. According to maon even if there is the same
situation in a mwn and a Xn*12; wherein 77 " uses the term °n» X, it does not require us to assume that if
they are arguing in the Xn»72 they are necessarily also arguing in the 71wn. The X3 there makes it clear if
they are arguing in the X012 we must assume they are also arguing in the m1wn. Otherwise if we were to
assume what M20IN maintains, then how can we ask a question on "2 based on what we find in a ’n>12?
According to m»oIn one does not depend on the other. They could be arguing in the Xn»92 but not in the
awn.
6 It is definitely not the personal view of 777> himself who openly disagrees with 11970 .
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xin of the mwn without being specific as to who this Xin is’.

noon has concluded that 'wn9% "niR' is limited to the mawn, but not to the Xn» 2 as
evidenced by our X3 basing the conflicting opinions of the two mn*92 on the np1onn

between 71127 °"1. M0IN will bolster this assumption.
= NI (4,0 97 pon) DTN 2023 P9937 WY YNNIN NIYNI RPITT 991D 7298 19)

And we necessarily must say so that was» >n»°X is limited to the mawn

0nly8 for we have learnt in a X192 in 2777 102 1?7995 the 77N states:’
= 9919 1NN 0T 19N NI MUY 29N 1T HIY 1151 110

‘And you shall cover i#’; this (the connotation ‘it’, referring to the previous
word M7 - its blood) teaches us that it is required to cover the entire
blood (of a bird or [undomesticated] animal that is ritually slaughtered);
from this 105 the 21217 derived that blood which bounced away (from

the main pool of blood) etc., must also be covered -
- NV NDN DT DY PRY AT SHION 2900 %19 1IN

>''v said when is this so, that "1 1n°37 07 must be covered; only in a

situation where this 1n°177 07 is the only blood remaining. If however there was

other blood which was covered, it is not necessary to cover the 1n°17 07 as well.
=997 NXPN T 920PT 0NN Y9N NN’ 2297 NIYVI

And the X713 there explains the reason of >''1 is for he is of the opinion
that when the 770 stated Y27 it means even part of its blood; not necessarily
all the blood needs to be covered -

= iy 95 NP Nan 21 N2T7haT IONNDp NINN 1997 Tn99 by
And we forced to say that he argues on the p'"'n for the p''n clearly states
‘all the blood’ needs to be covered. We can conclude that in a Xn>>72 when >" states

nmaX' it is P12 and not w1oh. Even though that in the mawn there '? concerning the same
issue, > says "X and it is w192 and not P1on.

7 See ‘Thinking it over’ # 2.

8 mooIn seems to be saying that not only is it possible that "n»°x' in a Xn*™12 denotes a NPY2my, but rather that

it is mandatory that we interpret "n»X' in a X092 as a npY2nn. See ‘Thinking it over” # 3.

In » ,1 >nX the P05 reads: 79¥2 17031 11T NX TOWY 2R WK W .

10 The advantage of this proof is that the Xn»12 states >nia>X and we nevertheless see clearly that the p"n

argues with *"; as opposed to the previous proofs which were based either on 7 "™ or a Xnp»a

(concerning M7y >2109) that did not explicitly state "n»x'.

' Tt our M a the text in 77911 reads as follows: "1 Ja12 *N°X 9" AR N0 2°°7 121 11717 AT7 777 17021 "N

IR MI0OY 21 N1 TN°IT OT 10N RN M0oY 21 M7 LW 5N 170N TR RN .Moo%n Mud "1 2T aw W DaR

mMoohn MBS 131 YaR W 07 703 ROW K"72 A"awA. It is evident that the p"n of *"1 does not state M7 93; only

the p"n of A"7. Either mvon had a different X072 or perhaps nwoin is of the opinion that the two p"n are the

same. ¥"x.

122,19 910, There is a similar 77 in the mwn there with the exception that the ?"n does not states 7 95w
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- Y999 X2 ONNYT PHINNAT DTN 295 BN 11229 ONN POIDY
And the n''1 follows the ruling of 3''9; that we require only %7 nxpn, for in

the mwn» there, °"1 is coming to interpret the onom; which means that the 2on

agree with him therefore the 1% can be like *" for he is not a 7°r°, but rather a 2°2".
= N§?P927 029 91PN TN PHINNT NTN2 229 M) 9P NN?II2T 1329 NNIY 1)

However, perhaps the 3229 of the Xn>»92 who maintain %7 93 they are the
main authorities and the 7127 of the 71wn are a minority and 59 of the 71w
would be like an individual arguing with the majority who are the 7129 of

the Rn™2.
L3 97) NIVT NP 9992 NI'N NI YNNI

And there is a similar situation in the first P29 of 17270 noon.

SUMMARY

mooin offers two alternatives how to resolve the apparent contradiction
whether *nR is w197 or pYonh. The first approach is that our X3 disagrees
with 33m° ' "2 and maintains the opinion of Ran 92 *»7 that *nX is also
P22, This precludes mentioning 13m0 ' in our X°0.

The alternate approach is that there is a difference between a 71wn and a
8n>92. In the mwn we say w192 "Nk and in the X721 it is P12 "N k. This
is true even when the mwn and Xn*12 are discussing the very same issue as
in our case of 12°502 X277 2" 79Y. Our X210 may follow the views of "1 5"2"
YREALS

moon offers a concrete example of this apparent duality in the case of "9
a77. In the 73wn where 7777 ' states "ndX it is w1oY, however in the Xn»1a
the p"n clearly rejects the view of 7717 " even though he states *n»°X in the
&n>12 as well. The "1 accepts this to the extent that he maintains the 175%:1
of o7 "o is like 777> " since the p"n of the mawn follows this opinion
despite that the p"n of the Xn»72 rejects it.

THINKING IT OVER

mos% 21 (as in the TR X1 quoted in the previous footnote # 8), but rather 151 N103% 211 151 1017 7.
13 The gloss places it on 2,0 7. The X3 there is discussing whether an ¥a1wn» Ymx is considered an 7K.
The conclusion is that it is not considered an ?mx; despite that the 2217 in the 73wn claim that it is an 77K,
nevertheless we follow the o»om of the 012 who claim it is not an 27X since the mawn is "x7m. It follows
the opinion of one.
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1. When mp01n says *"17 82°9% >Xin »1m;'* what is the disagreement between
these two o'xin?!°

2. mooIn answers that X°7 v" Dwn " XonA.1° However miooin question
seems to be that there never should have been a question in the first place.
We cannot infer the situation in a 7Iw»n concerning "N°X' from a Xn»M2.
MooIN does not seem to be addressing this issue.

3. When n1901n states w197 "R 7wna k177 "¢ 193,!7 does he mean that in a
mwn it is always w197 but in a Xn™M2 it could be w9? or ,PnY; or does
No0IN mean that in a Xn>>M2 it is always pon??18

14 See footnote # 3.
15 See n"m1.
16 See footnote # 7.
17 See footnote # 8.
18 See 1"nx # 129.
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